18.05.
Контроль аудирования (zoom)
Задание по учебнику SВ: повторить лексику и ключевые выражения модулей № 4 и №5.
Подготовиться к контрольной работе. 
19.05.
Контроль чтения (вайбер)
Подготовиться к контрольной работе. Повторить грамматический материал модулей №4 и №5.
20.05.
Контроль письма (zoom).
Подготовиться к контрольной работе. 
21.05.
Контроль говорения (zoom)
22.05
Language Check 
Задание по учебнику SВ: выполнить задания проверочной работы на стр. 58




















          The Present Simple  /  The Present Continuous Tense
Выберите нужную форму глагола в настоящем простом или в настоящем продолженном времени:
1.   Our manager …………. in the office all day.
1. stay          b) stays          c) is staying 

2.  As a rule I ………… customers in the evening.
              a)  meet       b) meets          c) am meeting

3.  We usually ………… …  our work at 6.
                  a) finishes     b) finish        c) are finishing

4.  He often …………  to London.
                  a) go             b) goes            c) is going

5.  They …………..  shops in different cities.
       a)   have got   b) has got      c) are having

6.  We don’t  ………. out at weekends.
1. goes         b) go               c) are going

7.  After lunch the secretary …………. letters to different companies.
1. write       b) is writing      c) writes

8. The office  …………  at 6 p.m. on weekdays.
                     a) is closing      b)  closes           c) close
9. I sometimes  ……………  at home because I have a computer.
                     a) work            b) works            c)  am working  
10. He  usually …………..    financial control over these projects.
                     a) take             b)  takes             c)  is taking
11. Now he  ………………  in Libya on a fixed-term contract.
                     a)  is working        b) works         c) work 
            12. I  …………….   . Can you tell Rosemary I’ll see her tomorrow?
                     a) am leaving         b) leave             c) leaves 
            13. His  company  ……………… profit every year but it isn’t very big.
                     a) is making            b) make            c)  makes
14. It’s not an expensive hotel. It  ……………….. much to stay there.
                     a) doesn’t cost           b) don’t cost       c) isn’t costing 
15. She’s got a new job so she  ………………….the firm in October.
                      a) is leaving                 b) leaves            c) leave

